Math 1210: Worksheet #2 Fall 2017

Name: Solution A#: Section: E,F
[2] 1. State the formal (¢, §) definition of lim f(z) = L. Part marks will be given for an informal
definition.
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(5] 2. Let f be a function whose graph of y = f(z) is given below.
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(c) List all values of a in the interval (—15,30) for which limit lim f (x) does not exist:
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(d) The average rate of change of f(z) over the interval [—5,10] is ==
= 5 \5
\0 — (-5)
(e) The instantaneous rate of change of f(x) when z = 15 is {/'_23
(3] 3. Let f(x) = L and let a # 0. Find the instantaneous rate of change of f(z) when z = a,
as a function (call it g) of a (you are not allowed to use any theory of derivatives).
: Een) —B0) ; \ | . 10
s=im  FOF@) | fo NV g T g
i Hoich L i L - R>2 X _on :,t iy T (-
7 -\ -}
e A T pmsmimm—
- a 2 -
(s AR a \ \ o — (oth) h

j . Florh) - ) _ E@!A— _-_E‘_"j,t\ A =ﬁv;ﬂ. A (\f‘:“\ﬁ-‘/}j :%;M a(ovrh)
%(C‘} = L\“;O " gl W o ——‘*——‘ _-70‘ e
. = -
f, K =

= J\L't/w‘u —}(m\ﬁ ; he—so A (U '\“‘“\} N
i \

—g O



Fonoon
Solution

Fonoon
E,F


Tax -2

4. Compute the limit or show that it does not exist.
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3] (b) EBI_I}+ (ln(l +z) — In(z® + 4z + 3)) = /éni;h (/({A«‘(
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